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1) Increase 216 by 1/108 2) Find the median of the following set of data: 3) Find the median of the following set of data:

33, 28, 29, 39, 17, 30, 33, 38, 32, 33, 28, 29, 39, 17, 30, 33, 38, 32
37,7,24, 25,19, 28,12, 21, 29, 28, 37,7,24,25,19, 28, 12, 21, 29, 28
29 29

Answer: Answer: Answer:

4) A number was shared in the ratio 5) 3y, -3, 6) Find area of triangle
48:36. The larger share was 72. What a=9340ft, b= 9357
was the smaller amount? b b ft

a
Answer: Answer: Answer:
7) 7400 + 100 8) Find the percentage change from 400 9) Round 18.3303296837 to 9 decimal
to 280 places.
Answer: Answer: Answer:
10) 'What isthe probability of rolling a 11) Anamount was increased by 4% to 12) (-74) x 81
even prime number.when rolling a $28.47. Find the original amount.
dice
Answer: Answer: Answer:
13) Find area of 14) 8428 - 4982 15) 4/9 of 27
. . triangle s = 6375 ft
s
Answer: Answer: Answer:
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16) Round 4.38677 to 4 decimal places.

17) Convert the following improper
fraction 23%/, 5 + 23% into amixed

18) Anamount was decreased by 3% to
$205.00. Find the original amount.

number
Answer: Answer: Answer:
19) A number was shared in the ratio 20) Find perimeter of 21) Find perimeter of
44:87. The smaller share was 44. s triangle s=9950in triangle
What was the total amount shared? b b a=8934in,b=
s 9338in
a
Answer: Answer: Answer:
22) Convert the following improper 23) 21 o + 25 24) 292/, x 28%¢
fraction 38%/¢ + 33% into amixed
number
Answer: Answer: Answer:
25) 215+ 8, 26) 27)
40 Find Volume of 40 Find Volume of
Cylinder Cylinder
Answer: Answer: Answer:
28) 14 19,,-7 9, 29) Round 9.7608366606 to 3 significant || 30) 34 1% g
figures.
Answer: Answer: Answer:
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31) 7033 x 1580 32) Simplify 35:39 33) A number is chosen at random from
1to 75. Find the probability of
selecting divisors of 17.
Answer: Answer: Answer:
34) Increase34 by 4 17 35) Find the percentage change from 215 36) 54.1x 92.6

to 150.5

Answer: Answer: Answer:
37) 20 x 100 38) Find the median of the following set of data: 39) 16/ 14 ER 2/1
6,7,17,12,11,5, 3, 19, 33, 16, 2,
3,37,12,4,2,27,29,5,15
Answer: Answer: Answer:
40) Round 29.8982 to the nearest 100 41) 1775 + (-25) 42) 'What isthe probability of rolling a
multiple of 1.when rolling adice
Answer: Answer: Answer:
43) Find perimeter of
. . triangles=3100in Find VVolume of Find Volume of

Answer:

Hexagonal Pyramid
2 40

Answer:

Hexagonal Pyramid
/40

Answer:
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46) 47) 174/7 X 392/17 48) Convert the following mixed number
Find VVolume of 2518/16 into an improper fraction.
Pentagonal Pyramid
31
Answer: Answer: Answer:

49) 241, - g 50) 38 25-19 3, 51)  Convert the following improper
fraction 331/, + 2810/, 4 into amixed
number

Answer: Answer: Answer:

52) 53) A number is chosen at random from 54) W 3x g

1to 75. Find the probability of
selecting even number.
A B=33
Find the Angle at side A.
Answer: Answer: Answer:

55)  6039.3 - 7808.8

56) Convert the following mixed number
1216/, into an improper fraction.

57) Convert the following mixed number
1216/, into an improper fraction.

Answer: Answer: Answer:

58) 2071 ,+24,, 59) 1373+ Py 60) 'What is the probability of rolling a
number less than 3.whenrolling a
dice

Answer: Answer: Answer:
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61) Find the mode of the following set of data: 62) 1715 x 2802 63) 1715 x 2802
94, 94, 94, 94, 94, 94, 94, 105, 105,
124,124, 124, 41, 41, 41, 41, 41,
41,41
Answer: Answer: Answer:
64) 02:50 am To 12:49 pm 65) 82.5x 86.9 66) Simplify 24:87
Answer: Answer: Answer:
67) 16 3/,,-34 1, 68) 36624+ 168 69) 9755.2+ 182
Answer: Answer: Answer:
70) Find the percentage change from 100 71) 50% of 498 72) 8911 - 8856
to 272
Answer: Answer: Answer:
73)  8911-8856 74 64%of 146 75) 34+ 2718
Answer: Answer: Answer:

Copyright 2023 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Name:

November 25, 2023

GEMERATOR

Sr: 25112023-3375
MATHS WORKSHEET FiI}

11-PLUS
SATS
GCSEsS

o
=

76) A number is chosen at random from 77) 9011 - 8990 78) 5662 - 5465
1 to 75. Find the probability of
selecting even number.
Answer: Answer: Answer:
79) 80) Convert the following fractioninto a 81)  Findthemedian of the following set of data
40 Find Volume of mixed number: 50/ ¢ 21, 20, 35, 18, 13, 33, 38, 19, 18,
Cylinder 37,38, 28, 17, 30, 14, 21, 23, 33,
0 22,29
Answer: Answer: Answer:
82) (8+13x3)x 14 83) Find perimeter of 84) 91% of 495
square having each
s side (s) equals 4185 in
s
Answer: Answer: Answer:
85) 91% of 495 86) 60.4 x 94.5 87) Find area of triangle
a p h=4449in,a=
9502 in,
c b=9976in,c=
9978in
Answer: Answer: Answer:
88) Find area of triangle 89) Find area of triangle 90) 11-13+92x 16
a p h=4449in,a= a p h=4449in,a=
9502in, 9502in,
c b=9976in,c= c b=9976in,c=
9978in 9978in
Answer: Answer: Answer:
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91) 66240 + 720 92) Decrease 78 by 5/39 93) 16326.8+ 343
Answer: Answer: Answer:
94) Decrease 96 by 1/32 95) Find area of square 96) 7557 - 6082
having each side (s)
s equals 9921 m
s
Answer: Answer: Answer:
97) / 98) 25% 19+ 228/, 99)  25%9+22%,,
‘Name the type of angle.
Answer: Answer: Answer:

100) Round 7.270639174531531 to 2
significant figures.

Answer:

Total: /100
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1) 218 2) 22
8) -30% 9) 18.330329684
15) 12 16) 4.3868

1 8,
22) 724, 23) 48 ¢
29) 9.76 30) 594
36)5009.66  37) 2000
43) 9300in 44) 55425.625842204

13, 1
50) 181344 51) 6255

20, 79

57) 20, 58) 279,19
64) 09 Hours
50 Mins 65) 7169.25
71) 249 72) 55
78) 197 79) 201061.92982975
85) 450.45 86) 5707.8
92) 68 93) 47.6

1263,
99) 11263/, . 100) 7.3

322
10) Yg

17) 47 ¢

24) 83810/,

31) 11112140

38)9

45) 55425,625842204
52) 147

59) 24,

66) 8129

73) 55
6
80) 19/,
87) 22191612in

94) 93
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Answers:

4)54
11) $27.37

18) $198.85

25) 211,

32)35:39

39) 4,

46) 17636.040340971
53) 37/

60) Y5

67) 36°/,,

74) 93.44
81) 37.5
88) 22191612in

95) 98426241m

GEMERA

5) 21Y,
12)
19) 131
26) 181458.39167135
2
33) 2
40) 29.9
6
47) 687/,
41,
54) 14 o
61) 94

68) 21.8

75) 1383 g0
82)
89) 22191612in

96) 1475

Sr: 25112023-3375

6) 37774122.857189ft
13) 17597906.837838ft
20) 29850in

27) 181458.39167135
34) 42

41)-71

48) 29

55) -1769.5

62) 4805430

69) 53.6

76) 37/
83) 16740in
90)

97) Obtuse

11-PLUS
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GCSES
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7) 74
14) 3446
21) 27610in
28) 6>/,
35) -30%
42) 1,

49) 25/gg
56) 20/,

63) 4805430

70) 172%

7721
84) 450.45
1) 92

9g) 11263/
8417
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